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9.1 nq%ﬁ’rwmeﬁwaﬂma&?
A) 1958
B) 1969
C) 1976
D) 1985

W.2 ¥Rd # Ad STeT Fal delled T AR g
SFae [Rfga & 2

A) THG &Y

B) faure #sor

C) faaraar 3marer

D) TIET YTt

9.3 TS S oy e T §-
A) TE9TG
B) &g ealr
_)_afﬁmm
D) &

9.4 Aegad T g gaudHd 59 o &
TR g5 o -

A) 3fsem

B) f¥er

C) 9galre

D) HERTSE

9.5 HRAT THG H YT Flel e YE &iell & -
A) doF % Ugdr e
B) &% & 3ifdd 8¢ W
C) adgY 12:00 T &
D) s fafaa gag 78 §

¥.6 AR TardT &l fohd 1T & 91 AT Hr
cn%crgéafr?

7.9. farfafad & @ fFaa soew & ey
(1764) & &reT =igT foram ar ?

A) HR I

B) g[silegerer

C) <ITg 3Tl 2

D) #R ®ifd#

9.10. 5T Fufadier RT & TA9AT Iy &
YR 9T HE A §d ?

(1) geramrelr $¥c 3T Huel

(2). it sEe SfEar Fueh

(3). 5T &Fc AT Fuslr

7.12. $egeR &1 T Ry Fgd & 2
A) T oot
) 7 e o
) foer Sea
) Hed AFIEA

oo0wo>

3. fhger fagar 3ereleT & 3
qfrj?ﬁam Teh Hgcaqur

E\GED :
A) ffegs dfew
B) IS IHAGA IA
C) $ea dg faearamr
D) T@rT fadee

Q.1. When was the MP Hindi Granth Academy
established ?

A) 1958

B) 1969

C) 1976

D) 1985

Q.2. Which institution have authority & is
responsible to make voter list in India.

A) Parliament
B) Legislature
C) Election commission
D) Local administration

Q.3. National dairy research institute is
situated at-

A) Chandigarh
B) New delhi

C) Ludhiyana

D) Karnaal

Q.4. Which is the first state to established the
institution of lokaayukt .

A) Odisha
B) Bihar



C) Punjaab
D) Maharashtra

Q.5. When is zero hour started in Indian
parliament —

A) First hour of the sitting
B) Last hour of sitting

C) 12.00 am noon

D) no fixed time

Q.6. At the bank of which river lord Mahaveer
recived Kewalya Gyaan ?

A) Rijupalika river

B) Urubela river

C) Shubh vastu river

D) Sadaneera river\

Q.7.What is the ancient name of Bundelkhand?

A) Jejaajbhukti

B) Vats

C) Besnagar

D) Kalinjer
Q.8. Which of the following constructed the
fort of Maandu?

A) Baaj bahadur
B) Husaang shah
C) Gyasuddin khalji
D) Sikander shah

Q.9. Which of the following didnot participated
in the battle of Buxor (1764)?

A) Mir jafar

B) Shujauddolla

C) Shah aalam

D) Mir kasim

Q.10. What is the foundation year of the
following in Chronology ?

(1).Portuguese east india company.
(2).French east india company
(3).Dutch east india company
(4).British east india company

A) 1,342
B) 1,2,3,4
Q) 1,432
D) 4,1,3,2

Q.11. Who invented e- mail ?
A) Bill Gates
B) Tim Berners Lee
C) Ray Tomilson
D) Ken Thompson

2. Who is Father of Computers ?

A) Charles Babbage
B) Tim Berners Lee
C) Bill Gates

D) Can thompson

Q.13. Who played an important role in widow
remarrige movement:

A) William Bentik

B) Raja Ram Mohan Rai

C) Ishwar Chandra Vidhya Sagar

D) Swami Vivekanad

4. foe s &1 3AsHR fFast fRar 2

A) Froar 3T
B) 3NeRET TR
C) T&3Tr 3MhaArdr
D) @rareft sererar

9.15. SARITAT & ¢ CEO § :

A) faermer fadenr

B) sicsT siTclahadl

C) afad M@

D) gex foars
9.16. AT faera RAE &1 gehre fhas gann
forar ST § 2

T.17. FETcAT I TSET ASTIR IRET
RfFTd w9 aRa g3

A) 2004 N

B) 2005

C) 2006

D) 2008

T.18..0Rd H Sl I TSCIGRIoT
(nationalization) &e &e 31T

1969 i) 1959  iii)T980  iv)1991
A) i &iii
B) i,,ii i
C) ijiiiiv

D) all of the above



T.19.9Rd & seadr &r a8 oY ?

A) 5 nov 2015
B) 6 nov 2016
C) 8 nov 2015
D) 8 nov 2016

9.20.5% IW@T AR & fohdel U1 T gl
IGEGIE

A)6 B)7

B)8 D)9
9.21.GATH Asc; fohay oTST T &

A) 3ET

B) STgT=AT

¥.25. FATUIA TH8eT & 3 § GOLDEN
TRIANGE

A) w3 fagase agels

B) M3 USels FIHAR

C) AR Ursels fadders

D) AT FAAR USels
9.26. ThE U & Well H T qaT A TQonfsat
r TEar 7 g & 2

A) dieldiel U drex arelr

) areX diel U9 SrEcheaidl

C) %33l Ud sicaral

) ocdle T @-@r

1;r27 YUH FaGel ITATY] Yeigsell hisf AT 2
A) 3TE U TH Ih
B) S T TH Hradd
C) 35 U vy Rarfes
D) 3T U UH INed

Q.14. Who invented Bitcoin ?

A) Kazno Ishignro
B) Okasi Namuro

C) Saruo Okamoto
D) Satoshi Nakamoto

Q.15. Who is new CEO of Infosys ?

A) Vishaal sikka
B) Nandal nilkeni
C) Salil parekh

D) Sunder pichai

Q.16. Who published Human Development
Report every year ?

A) UNEP

B) WB

C) IMF

D) UNDP

Q.17.When was Mahatama Gandhi National
Rural employment gurranty act get passed
A) 2004
B) 2005
C) 2006
D) 2008

Q.18. When was bank get nationalised in India
i) 1969  ii) 1959  iii) 1980  iv)1991

A) 1&iil

B) 1,,ii ,iii

C) i,iii,iv

D) all of the above

Q.19.What is the date of demonetization in
India ?

A) 5nov 2015
B) 6 nov 2016
C) 8nov 2015
D) 8nov 2016

Q.20 .In how many states did tropic of
cancer passes ?

A) 6
B) 7
C) 8
D) 9

Q.21. The word tsunami is from which
language?



A) Arabic
B) Japnese
C) Hibru
D) Latin

Q.22. What is measured by Sismometre ?

A) Heart rate

B) Height of trees
C) Age of trees
D) Earthquake

Q.23. SIMA is related to which of the following
layer of Earth?

A) Crust

B) Mental

C) Core

D) None

Q.24. Which is the largest musem of world ?

A) American musem of natural history
B) Wood buffelo national park

C) Yellow stone

D) None of above

Q.25. Golden Triangle consist of :

A) Laaos-Vietnaam-Thailand
B) Laaos-Thailand-Myanmar
C) Myanmar-Thailand-Vietnaam
D) Indonesia -Myanmar-Thailand

Q.26. Which of the following sports team
consist of 7 players ?

A) Bollybaal & water polo
B) Water polo & basket ball
C) kabaddi & netball

D) Netbal & khokho

Q.27.Which is the First Indigenous Nuclear
Submarine :

A) INS CHAKRA
B) INS KAVERI
C) INS SHIVLIK
D) INS ARIHANT

W.28. AW Wol HEAT s (FIDE) fohd
YT § FefOd § ?

D) foigs ardt
¥.30. UGS QEHR 2017 Grecderdl @it § 2

T.31. meaﬁﬁmﬁg@?
A) 1995
B) 1975
C) 1980
D) 1985

9.32. AU als @ gt farcslr g & 2
) 42.195 km
) 42.195 FieX
C) 26.385 km
) 26.385 3.

9.33. Siier AT -

a) Isohel

1)ATHAA 3978 aTel TATT

b) Isohypes 2)4d & WA it arer TATeT
c) Isohyetes 3)ATATT SIaUTAT dTel TUTeT
d) lIsohaline AHTHATST uT arel TATT
T
a b c d
A) 1 2 3 4
B) 2 1 4 3
c) 3 2 1 4
D) 4 3 2 1
9.34. ATYTAH el & STeAdh Dl g ?
) AW By R Fefia
) fATEIsmE faderd
C) YA ar™
) ST erer
9.35. TIFd TS FI AT I HIST el & 2
A)
B) IR
C) 3RfeTeT
D) 3 AR

9.36. %Qawmmﬁﬁwm%?

A)
B)
C) dwiRIaTe (dsheRue)
D)



¥.37. AR fohehe HATGel 1A &I hedlel Sl &
?

A) 3R
B) fadrelr It
C) &fdeX &R
D) &dr urieer
¥.38.. AT 1T foua &
A) fée HgEER
B) Werd HEMERR
C) 3RE PR
D) gfaiur ’mer

9.39. Idg &A1Y IR ST Al Aol [RERR el
e ?

A) 1911
B) 1912
C) 1913
D) 1914

AN

9.40... IRd & Al q
9UH JA1A T & ?

e AT AR
ar A
dheIHeT
gfde W

S

{EHR ITcd A arel

12

Soz=
ﬂc%

Q.28. International sports organisation FIDE is
related to which Sports ?

A) Football
B) Hockey
C) Chess

D) Cricket

Q.29. US president Donald Trump belongs to
which party ?

A) Ripublic party

B) Democratic party
C) Conservative party
D) Likud party

Q.30. Who is the winner of Gyaanpeeth Award
2017 ?

A) Raghuver chowdhary
B) Govind mishra

C) Veerappa moily

D) Krishna sobti

Q.31. From which year Dronacharya Award
started ?

A) 1995
B) 1975
C) 1980

D) 1985

Q.32. What is the distance covered in
marathon run

A) 42.195 km
B) 42.195 metre
C) 26.385 km
D) 26.385 meter

Q.33. Match the following :

a) Isohel 1) Places with same height
b) Isohypes  2) Places with same sunlight duration
¢) Isohyetes  3) Places with same salinity

d) Isohaline  4) Places with same rainfall

CODE:

a b C d

A) 1 2 3 4
B) 2 1 4 3
C) 3 2 1 4
D) 4 3 2 1

Q.34. Who si the father of Modern Olympics :

A) Baron pirrere de kobertin
B) Dimistryis vikeloss

C) Thomas vokh

D) J.J. Tata

Q.35. Which of the following is not the offical
language of UNO?

A) Mandarin

B) Russian

C) Arabic

D) American

Q.36. Which of the following is known as the
mini parliament of world ?

A) Secruity council

B) Trustiship council

C) Secriatat

D) General assembly

Q.37. Who is the captain of female cricket team
of India ?



A) Aarti singh

B) Mitaali raaj

C) Hervinder kour
D) Devi patil

Q.38. Mariana trench is situated at ?

A) Indian ocean
B) Pacific ocean
C) Arabian sea

D) South china sea

Q.39. When was Ravindranath Tagore recievd
Nobel Award ?

A) 1911
B) 1912
C) 1913
D) 1914

Q.40. Who was the first indian scientist to
recevied Nobel Award ?

A) RN Tagore

B) CV Raman

C) Amartya Sen

D) Dr. Hargovind khurana

9.41. Q0T HRA &1 I & A ?

A) Fsom

)

C)

D) T
9.42.. Wﬁé@rqmﬂﬁmm—qm%ﬁ?r
T M2

A)  ART wifge wifaAT &6
B) ofier @3

9.45. do13 fohehe # ITFdeTd TR Faids &
(T #T H )?

A) afe dgerat

B) favre @ligel
C) fga er&AT
D) < dicqs

9.46. AT & GUH T fohohe FearT o ?
A) T AT

B) T geiR
C) @& &g
D) aﬁam
g.47. anﬁ?%ﬂa%?
A)
B) aﬁ;ﬁg
C) fuaa=
D) #Rd
.48.. e odr AT arell 2T §7
A) AT
B) &=Tar
C) Wiz
D) 3recforar

9.49 FET Y& WHR o AT Flefed # fohcat a¥
@raﬁwﬁwmwma‘gaﬁma

g B E
A) 12 B) 14
C) 16 D) 11

7.50. fase e Qw(MYOPIA) & &ia @1 o F
AT AT E

A) 3tade /@ (CONCAVE)

B) 3dd o/F (CONVEX)

C) dTsWidhdal oF (BIFOCAL)

D) SdaR o/ F (CYLINDRICAL)

9.51.. STHET 3T & 9RATT il Hid F 3q0Q
afaursr & Jig =

A) 3TSe 246A

B) m269A

C) 34?@'6279A

D) :-miwmﬁ

9.52..300 ¥ Pl AT GlellF@ T g7l &7 & MP &
gfaefea fRar a=r

A) Ewelid (TEFLON)

B) uifer sarellal (POLYETHYLENE)

C) urelr $34(POLY ETHYANE)

D) drely $U181(POLY ETHYNE )

9.53. HET YA H FIM AIM §S UIeh el Yol @1 &
) HEER

9.54.34H ¥ Hled ¥ T #H fARI(LIQUOR) o
T I §
A) IR
B) e
C) &NTE
) 3ugeFd @l
Q.41. Which is the longest River of South ?



A) Krishna

B) Bharat pooja
C) Godavari
D) Kaaveri

Q.42. Who is the first female Cheif Justice of
Supreme Court ?

A) Meera sahib fatima bibi

B) Leela seth

C) Anna chandi

D) None of these

Q.43. Which of the following is not related to
Badminton?

A) Kidambi Shrikant

B) Sameer verma

C) H S pranay

D) Vijay kumar

Q.44. Pulitzer award is given in which feild?
A) Sports
B) Bravery
C) Play/dramatics
D) Journalism

Q.45. Who has scored the highest score
individual score in One Day Cricket ?
A) Sachin Tendulker
B) Viraat Kohli
C) Rohit Sharma
D) Shen Watson

Q.46. Who is the first captain of Indian test
Cricket Team ?

A) Lala Amaranth

B) Vijay Hazare

C) CK Naidu

D) Veenu Makand

Q.47. Ankotvaat temple is situated at ?
A) Combodia
B) Thailand
C) Vietnaam
D) Indonesia

Q.48. Which Nation has the longest boundary?
A) China
B) Cannada
C) Greenland
D) Austraila

Q.49. According to the new law by MP Govt.,
What is the minimum age of a raped victim
entitled for the capital punishment

A) 12
B) 14
Q) 16
D) 11

Q.50.Which lens is used in MYOPIA :

A) CONCAVE

B) CONVEX

C) BIFOCAL

D) CYLINDRICAL

Q.51.Which articles of constitution get
amended after the introduction of GST :

A) 246A
B) 269A
C) 279A
D) All of above

Q.52. Which polymer get recently banned in
MP:

A) TEFLON

B) POLYETHYLENE

C) POLY ETHYANE

D) POLY ETHYNE

Q.53. In which city of MP, a Mega Food Park is
going to established?

A) Mandsour

B) Khargone

C) Indore

D) None of these

Q.54. In which of the following states liquor is
banned :

A) Gujraat
B) Bihar



C) Nagaland
D) All of the above
U.55. 393 ¥ HleT T T E ?

shg =T fr arar T
A) 3IAFHeR qeal Sl 3T

B) dReax Fofadt &1 3T
C) 3nfreasit gl T IEATA
D) s<dclel qrarar 1 3TEqTeT

9.56. 3gHACHEIG HIS golc ol foha Fguid @
3TenRE rail ¥
A) HATARRE afaderst
B) 8SW o¥ & feuid X memRd
C) = rail ¥ fHewid W MR
D) s & FIE T

g.57. 34T afeaar $r @rer fhde i ?
A) & SR
B) tﬁafa‘i’r
C) ST SherfareT
D) &=t A 3R B

9.58..01 WX 9% & gl 9T UTeT &l T

W.59 .31 3% 3591 faotetd $srd ST foham SITeT &-
3STATH

A)

B) des d&

C) world econimic forom
D) WTO

9.60 AT geldR SR &1 HaY ey g-
A) WWW(ICC)
B) 3AWrserd =ararerd (ICJ )

C) ARGy AEfeh  =ararerd (IMC )
D) CJi

9.61. gATACIET 9IC & & feail & o7 & W ¢
59 Hedl # e et W R fifsw

1. Jg A ST H &

2. 9 T T Tar sq 9 @ SEr §

378 Wi AT B HOA B Hee @ T ST TET &
A) Only 1 B) only 2
C) 2&3 D) 1,2, 3

9.62. mﬁﬁﬁ%ﬁwﬁmmm
H of Sl &l 9Tdd @M 127 4T -

) HIdC TET 3T

) FeAl TR IoF AT 3FIROT

) AY HATE g g HEAROT

) TS e

9.63.. HIHT 3757-17 Pedio favd w9 & daer &
HET YA §

1 ZHHI AN ARG & foham 3T T S9alg o Siar
2. 3Mese ¢ FT 3ars N saeey A fAer

3. Y (MASCOT )aferar At Teh g3 AT

o0w>

993"
—_ W =

D) 1,23

9.64. mﬁ#mﬁﬁmmﬁm
& forT oy Tl @er Siar § -

A) @i &St

) e e

C) AR IRIIrar

D) @& fafegsd

9.65.5181 AsT

a. UgTer el

b. #er A

C. a’?ﬂﬁ':r

d. m?m?rﬁ?r
A) 1234
B) 31,24
C) 4213
D) 3,214

9.66.. . Ser &3
a.ggar Bfoed 1 -1, 38H
b.FEC HAT T[T 2. Rfesa
c.ugell ol H i qFd ToT -3. ol
d.STEET aIRa et arel YUH 4. Jar

A) 3421

B) 4.3.2.1.

C) 2314

D) 24,31

-1. arar reft T
-2. § AR
-3. Helellel Sgalom

4. AT Tt

Q.55. Which is Correct ?

Branch of Biology Study

A) Apiculture Study of flower

B) Sericulture Study of fishes

C) Onirthology Study of birds

D) Ichthyology Study of honey bee

Q.56. Ahemdabad Mumbai bullet train work
on which Principal?

A) MEGNETIC LEVIATION
B) HYPERLOOP

C) MONO RAIL

D) NONE OF THE ABOVE

Q.57. Who discovered radio activism?

A) Henri Becquerel
B) P Qurie

C) Benzmin franklin
D) Bothaandb

Q.58..What will be the level of water when ice
melts:

A) Level remain same
B) Level decrease



C) Lecel increases
D) None of these

Q.59. Who issue ease of doing business index :

A) IMF
B) World Bank

C) World Economic Forum
D) WTO

Q.60. Justice Dalveer Bhandari is related to:

A) International criminal Court
B) International court of Justice
C) International Marine Court
D) Cheif Justice of India

Q.61.Choose the correct statement for
humbantotta port which was recntly in news :

(1) This port is situated at Iran

(2) India’s security concern is attached with
this port

(3) This port is developed with the help of
chinese company

A) Only 1
B) only 2
C)2&3
D) 1,23

Q.62. Recently, the plan to transfer Gir lion to
which of the following places:

A) Carbett national park

B) Kuno paalpur wild life century
C) Madhu malai wild life

D) Sariska national park

Q.63.Choose the right statement in context of
FIFA under -17 football world cup:

(1) It was organised in India and England was the
winner

(2) Golden boot award was won by Riyan
brevester

(3) Its muskot was kheliyo
A) 1
B) 3
O 1,2
D) 1,2,3

Q.64. Which of the following sports player who
recently retired is known as lucky charm for
India?

A) Saaniya Mirza

B) Martina Hingis
C) Mariya Sharapowa
D) Serena Williams

Q.65..Match the following:
a.Mountain Gandhi -1. Baba Kashi Raam

b.Metro man -2. E Shridharan

c.Tree friend -3. Sunderlal Bahuguna

d.monsoon man -4 Devraaj Sikka

A) 12,34
B) 3,1,2,4
C) 42,13
D) 3,2,1,4

Q.66. Matcah the following :

a. First digital state -1. Assam
b.First cashless state -2. Sikkim
c.First defecation free state -3. Kerela
d.First state to pass GST -4. Goa

A) 3,421

B) 4.3.2.1

C) 23.14

D) 2,4,3,1

9.67 AR I AQTOSR o7 aTell TUH S §

A) 3irEeforar
B) #Rd

C) AR
D) =gSicis

9.68. YA GFAe oy gafea §
A) I Sj;fﬁr (wet land )

B) gferdre
C) Sierarg gRddsT
D) Safafdear
¥.69. TR WORT T YA fhaat dr
A) 391G
B) % &l
C) 3G
D) &@Nide

¥.70. GEATGT (preamble ) & T fohdel IR
g3

A) T& &R
B) a arR
C) o sR
D) U aR &7 =gl

g.71. 9cT8T ellshdd (direct democracy ) T
3CTE0T &



A) facaT
B) 3ART
C) #Rd
D) RageRels
9.72. A.Y. & A AT fSer Hia ar g ?
A) T
B) &R
C) GE!?»I'EH
D) RREAEW

o]

9.73. A9, F JIHEAT GsIcd population
density fohder g ?
A) 196
B) 230
C) 343
D) 855
;74 R H BATeT & 9 T Al dilT F
?
A) FK2
B) haeleiEr
C) T
D) SrHAEEr

9.75. FellH dIv fore Usd H B § ?

9.76. GaH oIF§! de IQT aTell T did a1 § ?
A) 3Ty Yo
B) IGRIA
C) dfAcETS

S

D) #ERISE

9.77. A% SeTolid el 95 STl § 2
T

A)
B)
C) B?R'I'Gi's'
D) Agrery

9.78. ST &7 T hdeg & oJ@s P § ?
A)  Rigder &g A
B) §¥aT HAN dig
C) degras ael g
D) cgehr =i @Y

9.79.TUHT oy @ T § @ fradr
gemde fadwar § 2

A) Yeod

B) &Td dlge

C) drer

) T

9.80...871dT T[T 3o fhg & Foefed § 2

A) T T

B) T&eared

C) 3=+

D) @WRAe

Q.67.Which was the first nation to give voting
rights to woman:

A) Austrailia
B) India

C) USA

D) Newzeland

Q.68 Ramser summit is related to :

A) Wet land

B) Hotspot

C) Climate change
D) Biodiversity

Q.69. Who Introduce the langer system :
A) Angad
B) Guru Nanak
C) Amardas
D) Hargovind

Q.70. How many times preamble get amended
9

A) 1

B) 2

€3

D) None of above

Q.71.Which is the example of direct democracy
9

A) Britian

B) USA

C) Bharat

D) Switchzerland

Q.72. Which is the most literate district of MP?

A) Bhopal

B) Indore

C) Jabalpur

D) Narsinghpur

Q.73. What is the population density of MP?

A) 196
B) 230



C) 343
D) 855

Q.74.Which is the highest peak of Himalaya in
India?

A) K-2

B) Kanchanzangha

C) Everst
D) Naamchabrwa

Q.75. Kalam Island is situated in which state ?

A) Tamil nadu

B) Kerela

C) Andhra Pradesh
D) Odisha

Q.76.. Which state in India has the longest
coastal line ?

A) Andhra Pradesh
B) Gujrat

C) Tamil nadu

D) Mabharashtra

Q.77. In which state Tharu trive found?

A) Kerela

B) Andaman & nicobar island
C) Uttrakhand

D) Meghalaya

Q.78.Who is the author of book JHANSI KI
RAANI ?

A) Shiv mangal singh suman
B) Subhadra kumari chouhan
C) Vrindavan lal verma
D) Devki nabdan khatri

Q.79. Local administration is special feature of
which of the following?

A) Pallav

B) Saat vahana

C) Chola

D) Chera

Q.80. Hathi Gumfa inscription is related to
which ruler?

A) Raja Rudraraman

B) Skandgupta
C) Ashok
D) Kharvel

¥.81. 3aT & FHHIRT T F TSR Hedl &1
T AT A ¥ | IR0 F v, 3 &,
f3T&l ol o, Toh T & TSel 7 gl
Aot W 38 dgiedAlad & S8 deigel dl TR
& Torar grar| 34r #H 3171, 9 9Rar
1 el gl FoAht, T8TE ol FHelFeX &
¢ W & ) @l GG Y Hehal &l 56
3TeDe T HoU S FAGA A qTell HYU

A) TsT X A Tareey Qaisit e $r glaeaw
T A 8T gl

B) ;ﬁﬂmmw%ﬁmaﬁ
|

C) WHR ATAFIRAT I ITFAITT ITTIIRATT
T qIaTg gl Il

D) 3fIFRIEOT 39 Yeleaifd T WRAg el

D) AT FT TRH 3= Foll &l gl

9.83. T FelH TP &l IS FoA I g A

A) Fo TEaH R8T §
B) #o Ife g &
C) “wsfr gead 9ffer g
D) &« Fordl Uil B

7.84. Ush SHGIER Il o 30 &N H &
A & T Hcg g3 et 1 A0y forar |
JdfeheT 3T 39 of Aoy BT

& g1 ar gHe! BIET i g & Srwen| Afde
Ife JFERT AT ITeAd fehelm AT JHAST FT
AIRATS & A Beh T ART S| TR A
o T g AT R TS 3W AR AE T
FA gaRT fear I SO § -

A) T 7S AR H o R® 8 |
B) 34 3! FAIRATS & THA ¢T ST T © |
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Q.81. Today's workforce has a new set of social
values, For example, in the past, a Deputy
Collector who was promoted as a Collector to a
distant district would have accepted the
promotion cum transfer. Today he/she in that
same situation might choose family happiness
and may prefer to stay back as Deputy
Collector. The statement that best supports this
paragraph is -

A) Facilities such as healthcare, education
across the state are not uniform.

B) Officer's today are not loyal to the
government.

C) Goverment does not care about the
personal needs of officers.

D) Officer's do not care about their
promotion.

Q.82. Yoga has become a very popular exercise
today. But before one joins Yoga class, he/she

needs to examine the kind of fitness routine
that he/she expects. If one is looking for a high
energy, fast-paced aerobic workout, a Yoga
class might not be the best choice. The
statement that best supports this paragraph is -

A) Yoga is more popular than aerobic
exercise.

B) Yoga is not a high energy workout.

C) Yoga is better than aerobic exercise.

D) Exercising yoga gives high energy.

Q.83. All pens are books. Some pens are
pencils. Then,

A) Some books are pencils.
B) Some pencils are books.
C) All books are pencils.
D) All pens are pencils.

Q.84. An honest King decided to give death
penalty to his minister for some mistake. But
he gave him two options: "if you tell correctly
what I am thinking now, you will be hanged.
But if your guess is wrong, you will be killed by
throwing to Crocodile's. The clever minister
made a statement such that the king could not
kill him. The statement made by the minister is

A) You are going to kill me.

B) You are going to throw me to the Crocodile's.
C) You are going to hang me.

D) You are not going to kill me.

Q.85. A is the brother of B, B is the sister of C,

C is the sister of D and D is the brother of A, B

is junior to A and senior to C, D is the junior to
C. Then the correct statement is -



A) A & D are boys, age of A >age of D
B) A & C are boys, age of A > age of C
C) B & C are girls, age of C > age of B

D) B & D are boys, age of B > age of D

Q.86. Sita is a 12 year old girl. For many years,
she has been asking her parents for a pet dog.
Har parents told her that a dog would not be
happy in an appartment, but they have given
her permission to have a bird. Sita has not yet
decided what kind of bird she would like to
have. The statement that the best supports this
paragraph is -

A) sita's parents like birds more than dogs.

B) Sita does not like birds.

C) Sita stay with her parents in the same
apartment.

D) Sita's parents do not like to keep pets in
the apartment.

9.87 U : dFdl o doHT T YUTell &l
Teh THT 515 Yol H Seolsl R IR fear ad
& S $I gEdids AF™e &IH7dar AT 3T
|

QAYROT 1: 98¢ ger ot ey

tﬁiﬂwmz TRIET JoTell H qAfHToT
3TTaRIHT

7.88. $aﬂ:aaa$aﬁré%rm$mma#
3TSY AgT T, dAlhdd 3R TIATAT F PS5
3y 7T g
YAYUROT 1 : dllehcid 3R 3 FAGAAT Th
1w Toldr B
QAR 2 : didad 3R TadTar, s
TATAT R e a8t &1

A) JAURCT 1 GeTERMel Bl
QYR 2 JHTERMe &
aﬁa’ré’rmmcrﬂra’%rr@r%l
aﬁéaﬁﬁwm&nﬁa@r%‘l

B)
C)
D)

ToleT aTel ¢oT H ST 3T & €A A QAT
§ fF 3o Ram ¥ 30 arelr AR 9 TdE A
394 9T O fAder I § IfS ATeENET Fr o
250 #HieT &, ar Areemsr i afa .. gfa ger
graf-

A) 20

B) 30

C) 40

D) 50

9.90. 37Tl T ddel 500 TIT & 10% 3Hf&F 8
mqﬂwaqéﬁrmaa?rm%azwwﬂé;
d1¢ ¥ H 3HAT ddel g ?

9.92. & qey 3 uiw A3 & @og ¥, 5
wewd ard v BRAf @, e 3 qe 3R 2
AT €, ol JhR @ Tl ST ThaT & 2

A) 150
B) 200
C) 900
D) 1800

9.93. UgA YT ATAH SEAJRT FT 25% TEAHI
W@‘z‘rm%lazﬁséuﬁa:HS%ag
mamaﬂtﬂgrﬁmmaﬁemw@m
¥ IR 3oF o AT F g & 120 U A
g dl UgeT T ATl oA F47 § ?

A) 640
B) 850
C) 1000
D) 1260

9.94. U frdY GEATT FT fSotel &1 o i
& ¥ AURd § 3R 3 &7 & St &
gfeier 1 HEAT & HTHR FGeidr gl o9 1 FQled
# 560 et F 9T M @ ar el 2400
$IT AT | TH AT F 620 et @
wﬁwg&na’r%arzmowamnwm
ﬂ@ﬁﬁSOOﬂﬁ?ﬁW%‘é?ﬁﬁﬂﬁﬁ"ﬂ
frer ar g 2

A) 1660 T

B) 1860 ¥UT

C) 2160 TUT




D) 2260 9T

Q.87. Statement: The speaker is stressed the
need to change the present examination system
to a new system, which would measure the real
calibre of the students.

Assumption 1: Examinations should be
abolished.

Assumption 2: there is a need to the revamp the
examination system.

A) Assumption 1 is strong.

B) Assumption 2 is strong.

C) Both the Assumption is strong.
D) Neither assumption is strong.

Q.88._Statement : Until the country achieves
economic equality, democracy and freedom
have no meaning.

Assumption 1 : Democracy and economic
equality go hand in hand.

Assumption 2 : Democracy and freedom are
independent of economic equality.

A) Assumption 1 is strong.

B) Assumption 2 is strong.

C) Both the Assumption is strong.
D) Neither assumption is strong.

Q.89. A man sitting in a train which is
travelling at 60 km per hour, observes that a
goods train, travelling in opposite direction
takes 9 seconds to pass him. If the goods train
is 250 metres long, then speed of goods train in
kilometre per hour is-

A) 20
B) 30
C) 40
D) P
Q.90. Anuj salary increases from Rs. 500 by

10%, and a month later gets decreased by
10%. After this, his salary, in Rs will be ?

A) 500
B) 495

C) 505
D) None of the above

Q.91. One men and four boys can do a piece of
work in 10 days while three men and two boys
can do the same work in 6 days. How many
days two men and three boys can take to do the
same work ?

A) 45
B) 7.5
C) 12
D) 15

Q.92. In how many ways a committee of 5
members comprising 3 men and 2 women can
be selected from 6 men and S women ?

A) 150
B) 200
C) 900
D) 1800

Q.93. Rohan spends 25% of his monthly
scholarship on books.

Out of the balance amount he spends 75% on
the hostel and college fees. If he lefts with
Rs.120 at the end of a month, what is the
Rohan's monthly scholarship ?

A) 640
B) 850
C) 1000
D) 1260

Q.94. The electricity bill of a certain
establishment is partly fixed partly varies as
the number of units of electricity consumed.
When in a certain month 560 units are
consumed, the bill is Rs 2400. In another
month 620 units are consumed and the bill is
Rs 2640. In yet another month 500 units. The
bill for that month would be ?

A) Rs 1,660
B) Rs 1,860



C) Rs 2,160
D) Rs 2,260

Month Ratio (A : B)
January 8:7
February 1:2
March 3:2
April 7:5
May 7:8
June 7:9

9.95. YT B EaRT Sfdadl & odr 75 3R FoT H
& ITE HRT BT GEAT BT FHAL: AU FA & ?
A) 116 : 135
B) 119 : 145
C) 116 : 145
D) 119 : 135

9.97. T & 3l arell I&AT "PQ" §, f99%
3ehl &1 SIS 11 37T 81 Hel HE&AT & 37l I
37EoT SEa IF Th A% TEIT "QP" FT FAT
ST g &1 "PQ" & "QP" & e ¥ 9 37T
%—l H‘EMIIPQH%?

A) 83
B) 47
C) 74
D) 65

9.98. 31T Teh AT 39 g &1 31 & A
maa%‘laﬁaérmmmﬁrwaﬁrm
ar I 99T g ST aa'qsraﬁr:-m?:r
fyar &1 3 T 3/4 & S, q9 39 GHT T
@rmwg’nﬁ?

A) 30

B) 45

C) 60

D) 75

9.99. FAR 39T HATTHS 3T FT 30% HST W
20% el o 3R AT 3T FT 70% HFT
foRT 9T @ T § | 37 @l @t & 91,
3% 9 300 ¥V §Ed g1 FAR H 9T H
ATMAF 3T & ?

Directions : Study the following pie-chart and
table carefully to answer the questions 95 & 96
given below :

pie chart shows percentage wise distribution of the
number of cars sold by two distributors (A and B)
together during first 6 months. Total number of
cars sold is 1500.

Table shows the respective ratio between the
number of cars sold of company A and company
B during six months.
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16% 17%

May February
12% 22%
April
8% March
25%
Month Ratio (A : B)
January 8:7
February 1:2
March 3:2
April 7:5
May 7:8
June 7:9

Q.95. What is the respective ratio between the
number of cars sold of company B during
January and those sold during June of the same
company ?

A) 116:135
B) 119:145
C) 116: 145
D) 119:135

Q.96. If 25% of the cars sold by company A
during may were sold at a discount, the number
of cars of company A during that month were
sold without a discount is ?

A) 21

B) 63

C) &4

D) 105

Q.97. A number consists of two digit "PQ"

whose sum is equal to 11. A new number, "QP"
can be generated by interchanging the digit of

the original number. on subtracting "QP"
from "PQ" we get 9. The original number
"PQ" iS ?

A) 83
B) 47
C) 74
D) 65

Q.98. A father is thrice as old as his son today.
Ten years later father will be twice as old as his
son. What will be the age of the son when his
age will be 3/4th of his father age ?

A) 30
B) 45
C) 60
D) 75

Q.99. Kumar spends 30% of his monthly
income on food, 20% on electricity bill and
70% of the remaining income on house rent.
After all these expenses, he has Rs. 300 left with
him. Kumar's monthly income, in ¥is ?

A) 2,000
B) 3,000
C) 2,500
D) 3,500

Q.100. Vandana has less than Rs 200 and
decided to give half of the amount to her
friend. She continues to give half of the money
she has in her hand at any point of time to her
other friends during this process till she has a
balance in her hand, which is equal to the first
two digit prime number. The amount given by
Vandana to her first friend divided by the
amount given to her last friend is equal to ?

A) 2
B) 8
C) 4
D) 16
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